Sugar Grove Fire Department

Driver/Operator 

Final Exam

1. The fire apparatus driver / operator is responsible for :

A. The equipment carried on the apparatus are maintained and ready

B. The safe transportation of firefighters, apparatus, and equipment.

C. Both A & B

D. Neither A nor B

2. The driver / operator on the fire department may not be held liable for negligent 

acts incurred while responding to an emergency.

A. True

B. False

3. Where are apparatus most likely to be involved in an accident

A. Freeways

B. Alleys

C. Off ramps

D. Intersections

4. Emergency vehicles are exempt from laws that require vehicles to stop for

school buses that are flashing signal lights to indicate that children are boarding

or disembarking.

A. True

B. False

5. Recent legal decisions have held that a driver / operator who does not obey state, 

local , or departmental driving regulations can be subject to criminal and civil

prosecution if the apparatus is involved in an accident.


A. True

B. False

6. Fire apparatus approaching an intersection with a red traffic signal or stop sign 

will: (according to SGFD Policy)

A. Come to a complete stop and ensure traffic from all directions has stopped 

before proceeding.

B. Come to a complete stop and wait for a green light.

C. Proceed through the intersection blowing air horns.

D. All of the above

7. The main type of fire pump used on modern day fire apparatus is:

A. Positive displacement

B. Piston

C. Centrifugal

D. Rotary

8. __________ can cause damage to water mains, fire hose, and fire pumps.

A. Water hammer

B. Friction Loss

C. Residual pressure

D. All of the above

9. Residual Pressure is ________________.

A. The normal operating pressure

B. The stored potential

C. The static pressure minus the friction loss in the water system

D. The loss factor

10. __________ pressure is stored potential energy that is available to force water

through pipe, fittings, hire hose, and adapters.

A. Static

B. Operating

C. Residual

D. Flow

11. Pressure that is normally found on a water distribution during normal consumption demands is Normal __________.

A. Static

B. Operating 

C. Residual

D. Flow
12. __________ pressure is the forward velocity pressure at a discharge opening 

while water is flowing.

A. Static

B. Operating

C. Residual

D. Flow

13. During a rig checkout, if anything is found to be unsafe what must the driver / 

operator do? 
A. Send a page to their immediate officer

B. Call the department mechanic to come and fix the problem

C. Advise the Shift leader and fill out appropriate paperwork
D. Call dispatch and let them know that the rig is out of service

14. If a centrifugal pump draws more water than is available, the atmospheric 

pressure in the pump decreases and vapor bubbles may appear causing_______.

A. Pump pressure to increase

B. Cavitation

C. Lugging

D. Foamy water

15. The study of fluids in motion and at rest is the definition of _____________.

A. Pressure

B. Friction Loss

C. Hydraulics

D. Calculations

16. 1 gallon of water weighs _________________.

A. 250 lbs.

B. 3.85 lbs.

C. 8.35 lbs

D. 1 lbs.

17. While responding on a mutual aid response you come across hydrant color coded green has been rated at a flow rate of _____ GPM.

A. Less than 500 gpm

B. 500 – 1000 gpm

C. 1000 – 1500 gpm

D. More than 1500 gpm

18. While responding on a mutual aid response you come across a hydrant color coded as red has been rated at a flow rate of _______ GPM.

A. Less than 500 gpm

B. 500 -  1000 gpm

C. 1000 – 1500 gpm

D.  More than 1500 gpm



19. What is the primary function of the auxiliary cooler.

A. To keep the transmission cool

B. To keep the engine cool

C. To keep the pump cool

D. To keep driver operator cool

20. When the pressure relief valve senses excess pressure within the pump it will ___

A. Discharge the excessive pressure on the ground

B. Discharge the excessive pressure back into the intake side of the pump

C. Slow the engine down to lower excessive pump pressure

D. Switch from pressure mode to parallel mode

21. The amount of pressure needed to charge a sprinkler system is ______________.

A. 150 psi volume

B. 200 psi volume

C. 250 psi pressure

D. 150 psi pressure

22. What is the nozzle pressure for the combination nozzle on a master stream.

A. 50 psi

B. 80 psi

C. 100 psi

D. 120 psi

23. What is the nozzle pressure for the combination nozzle on a hand line.

A. 50 psi

B. 80 psi

C. 100 psi

D. 120 psi

24. What is the nozzle pressure for a smooth bore nozzle on a master stream.

A. 50 psi

B. 80 psi

C. 100 psi

D. 120 psi

25. What is the nozzle pressure for a smooth bore nozzle on a hand line.

A. 50 psi

B. 80 psi

C. 100 psi

D. 120 psi

26. A master stream discharges over ___________ GPM.

A. 300 GPM

B. 500 GPM

C. 600 GPM

D. 800 GPM

27. A hand line discharges up to _________ GPM.

A. 200 GPM

B. 250 GPM

C. 300 GPM

D. 350 GPM

28. While supplying a sprinkler system during a structure fire, you notice that every

minute or so you have to increase the throttle to maintain the correct discharge 

pressure feeding the sprinkler.  What should you do?

A. Nothing, the pump is old & inefficient.

B. Notify the incident command that possibly more sprinkler heads are activating because of the drop in pressure and the required increase in throttle to maintain pressure.

C. Nothing. There are people inside fighting the fire, if more heads are activating, they will know about it.

D. Shut down the pump because something is wrong with the pump.

29. The amount of pressure required at the nozzle to produce an effective fire stream

is the definition of ___________________.

A. Engine Discharge Pressure

B. Nozzle Pressure

C. Total Pressure

D. Elevated Pressure

30. The maximum amount of water that should be flowed through a hoseline before

the friction loss becomes overwhelming is the definition of _________________.

A. Straightline

B. Redline

C. Blueline

D. Blackline

31. How many psi friction loss per 100 feet is a 1 ¾” hand line flowing 150 GPM.

A. 10

B. 22

C. 44

D. 32
32. When positioning your engine on a tollway, freeway, or similar type highway for

a car fire, your major concern should be:

A. Getting as close to the scene as possible

B. Not impeding the flow of traffic

C. The safety of your crew

D. Getting the water on the car as quickly as possible

33. What volume of water will the 1” smooth bore nozzle at the correct pressure 

on a hand line flow?

A. 100 GPM

B. 200 GPM

C. 250 GPM

D. 300 GPM

34. What is considered the Redline for 2 ½” hose line.

A. 300 GPM or 21 psi FL

B. 400 GPM or 36 psi FL

C. 175 GPM or 30.6 psi FL

D. 600 GPM or 3.2 psi FL

35. What volume of water will the 1 ¼” smooth bore nozzle at the correct pressure on 

a hand line flow?

A. 200 GPM

B. 250 GPM

C. 300 GPM

D. 350 GPM

36. What volume of water will the 1 ¾” smooth bore nozzle at the correct pressure on

a master stream flow?

A. 400 GPM

B. 600 GPM

C. 700 GPM

D. 800 GPM
37. What is the friction loss for a 2 ½” handline flowing 250 gpm.

A. 10 psi

B. 50 psi

C. 15 psi

D. 2 psi

38. If you are unable to get prime while drafting, the most common reason is that 

there is an open drain.

A. True

B. False

45-46.List the nozzle sizes SGFD has on its Master Streams.

1.

2.

3.

4.

47. If you were to flow the deluge gun on 901, what pressure should it be set at?

A. 90 psi

B. 180 psi

C. 170 psi

D. 100 psi

48. Engine 901 has what size water tank?

A. 1000 gallon

B. 750 gallon

C. 1250 gallon

D. 300 gallon

49. Engine 902 has what size water tank?

A. 1000 gallon

B. 750 gallon

C. 1250 gallon

D. 300 gallon

50. Engine 921 has what size water tank?

A. 1000 gallon

B. 750 gallon

C. 1250 gallon

D. 300 gallon

51. Engine 901 pump is rated at what?

A. 1000 gpm

B. 1250 gpm

C. 1500 gpm

D. 2000 gpm

52. Engine 908 pump is rated at what?

A. 1000 gpm

B. 1250 gpm

C. 1500 gpm

D. 2000 gpm
53. Engine 921 pump is rated at what?

A. 1000 gpm

B. 1250 gpm

C. 1500 gpm

D. 2000 gpm

54-69. Determine the Engine Discharge Pressure for each.

`

54. Engine 901 is pumping a 3” line 400 feet long which is wyed into two 2 ½” line each 100 feet long with a fog nozzle.

55. Engine 902 is pumping a 2 ½”  line 200 feet long which is wyed into two 1 ¾” lines each 200 feet long with a fog nozzle.

56. Truck 902 is pumping a 5” line 500 feet long which is wyed into three 2 ½” lines each 200 feet long with a 1 ¼” solid bore nozzle.

57. Engine 901 is pumping a 5” line 300 feet long into a master stream device with a 1 5/8” smooth bore tip.

58. Engine 902 is pumping a 3” line 250 long into a master stream device with a 1 7/8” smooth bore nozzle attached.

59. Engine 901 is pumping one 2 ½” line 200 feet long with a 250 gpm fog nozzle.

60. Engine 902 is pumping one 1 ¾” line 300 feet long with a 7/8” smooth bore.

61. Engine 901 is pumping one 1 ¾” line 200 feet long with a fog nozzle.

62. Engine 901 is pumping one 2 ½” line 200 feet long with a 1 1/8” smooth bore.

63. Engine 901 is pumping one 2 ½” line 350 ling with a 1 ¼” smooth bore.

64. Engine 902 is pumping one 1 ¾” line 100 feet long with a fog nozzle.

65. Engine 902 is pumping one 2 ½” line 350 feet long with a 1” smooth bore.

66. Engine 901 is pumping one 1 ¾” line 300 feet long with a fog nozzle.

67. Engine 902 is pumping one 2 ½” line 500 feet long with a 1 ¼” smooth bore.

68. Engine 901 is supplying a standpipe system.  Engine 901 has 100 feet of 3” hose attached to system.  Firemen are on the 5th floor.  They have one 2 ½” line attached with a 1 1/8” smooth bore nozzle attached.
69. you are pumping out  a fold-a-tank when you hear a load noise coming from the pump like a coffee can full of marbles.  This tells you?

a.  Everything is ok

b. The pressure regulator is open

c. The pump is cavitating

d. You are drawing a prime

70.  For hand lines 1/8” increase in tip size increases flow by____ GPM?

a. 90

b. 20

c. 10

d. 50 
71. For Master Streams lines 1/8” increase in tip size increases flow by____ GPM?

a. 80

b. 90

c. 100


d. 70

72. In-line educators can be no higher than ____ feet above concentrate?
a. 10

b. 9

c. 7

d. 6

73. Aerating foam dose what?

a. Thicker foam blanket

b. better quality foam

c. uses less foam concentrate

d. a & b

e. all of the above

74. Common foam problems include

a. Eductor more than 6 feet above the surface of the foam concentrate

b. Failure to match nozzle and eductor

c. Air leaks at fittings

d. Improper cleaning of proportioning equipment

e. A & C

f. A,B,D

g. All of the above

75. For Hydrocarbons spills you should use what % of foam?

a. 6

b. 10

c. 3

d. 9

76. For Polar solvents spills you should use what % of foam?

a. 6

b. 10

c. 3

d. 9

77.  Front intake will reduce pump volume by?
a. 10%

b. 20%

c. 30%

d. 40%

78. The static intake pressure from a hydrant is 90 psi and the residual pressure is 70 psi when 250 gpm is flowing.  How many gpm is still available from the hydrant?
a. 250 gpm
b. 500 gpm
c. 750 gpm
d. 1000 gpm
79. If you had a static reading of 65 psi on the compound gauge and a residual pressure of 62 psi after the first line is charged, how many more lines of equal size can you supply?

a. 1

b. 2

c. 3

d. 4

80. Fire pumps are designed to pump 100% of its rated capacity at ____ psi.

a. 100

b. 150

c. 200

d. 250 

81. Fire pumps are designed to pump 70% of its rated capacity at ___psi.  

a. 100

b. 200

c. 250

d. 300

82. If an engine fails to gain prime or loses prime, it may be a sign that the ____________________ has become clogged with debris.
a. intake strainer

b. Barrel strainer

c. Impeller 

d. Primer 
83. Cavitation may occur when intake lines ______________.  

a. The intake line collapse

b. When no tanker are left in staging

c. When a second hydrant line is needed
84.   List the SGFD Box Alarms

9101-

9102-

9109-

9108-

9141-

9151-

9152-

9161-

9162-

9191-

9131-

9121-

13-911-

